












































































































R Let me 2kgr E
7 Let particle be

t on point of slipping
a Let 0 250

find M
mg

p
2gcos25

referSt B

12g cos250

On point of slipping F uR
and 2g sin 250 u2g cos 25

2g u
2 gas 250

fan250 M

Inclined Planes














































































































T 8NF x2 R r µ 0.5

m 2kg

20
T 8N

Eerr Find what
happens to particle

1 to slope R Tsin 30 2g cos 20

R 2g cos 20 8 sin30 14.42 N

Max F MR o 5 14 42 7.21 N

2g sin 20 I G 704 N

Teos 30 8 cos 30 6.928N

Force up slope from T slightly bigger
than force down slope from weight
Friction would actually be in direction

down slope Only G 928 G 704 I 0.224 W

required for equilibrium Friction can

supply up to 7.21 N so particle does not

move

Follow up question what does T need to

be to make particle accelerate up hill

Max force down slope 2g Sir 20 TMR
2 9.8 sin20 t 7 21
13.91 N

















































Particle will accelerate up slope
when 1 cos 30 13.91

T 13.91 16.06 N
cos 30

when T 16.1 N

NR 5

1I
6g v Ggcos3o
L

a Parallel to slope
Ggsinzo 49 Coso
6 9.8 sin30 Cos Q

49




















Co 56

b L to slope

49 since t 6g cos 30 R

49 51 t 6g cos 30 R

R 90.122
R 90 I N

c p aa

c.gs oooyV6gcos303

Resultant Force up slope mass x acc

49 cos 30 6g sin 30 Ga

a 49cos3o 6gs
6

a 2 17 ms
Z


